Name:

August 02, 2018

MATHS WORKSHEET

S
GENERATOR I%f

: 02082018-535

11-PLUS
SATS {ﬁf)
GCSES \Z

1) 39000+ 1000

2) Round 6.465 to the nearest 10000

3)  Convert the following improper
fraction 1012/,5 + 18/, to amixed

number
Answer: Answer: Answer:
4)  Find the percentage change from 6 to 5) 19% of 98 6) Find the median of the following set of data:
54 8, 35, 10, 25, 11, 17, 11, 11, 30, 12,
15, 27
Answer: Answer: Answer:
7)  Increase 268 by Vg7 ) 6/5- 1611, 9) 6/, - 16/,
Answer: Answer: Answer:
10) 6/2 _ 16/14 11) Find the range of the following set of data: 12) Find peri meter of
-9,-19, 12 b rectangle having
sidesa=671m
a andb=612m
Answer: Answer: Answer:

13) Find the value of 'q' by completing

2+4q+4

Answer:

the square of the following equation:

14) Find the value of 'f' by completing

the square of the following equation:

248t+15

Answer:

15) Find the range of the following set of data:

11,-13

Answer:
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18) Factorise 5d2 + 22d + 17

16) 3/55 of 110 17) Factorise 5d2 + 22d + 17
Answer: Answer: Answer:
19) 20) Convert the following mixed number 21) 7X 16X (4-14)
167/14 to an improper fraction.
14
A=15 B
Find the Angle at side B.
Answer: Answer: Answer:
22) (2x 7% x (6x 8% 23) Find perimeter of 24)  Convert the following improper
b rectangle having fraction 113/45 + 17%/15 to amixed
sidesa =961 ft number
a and b = 906 ft
Answer: Answer: Answer:
25)  Convert the following mixed number || 26) 518+ 516 27) Decrease 48 by 92%
71215 to an improper fraction.
Answer: Answer: Answer:
28) Find the value of 'j' by completingthe || 29) 410+ 1815 30)
square of the following equation: 2 + Find Volume of
4 +4 Pentagonal Pyramid
24
Answer: Answer: Answer:
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31) Find area of

b rectangle having
sidesa=978in
a andb=2802in

Answer:

32)  136x227

Answer:

33)  9q340f 268

Answer:

34) Increase 80 by 79%

Answer:

35) Convert the following improper
fraction 161/, + 10%/g to amixed
number

Answer:

36) Decrease 96 by %/sg

Answer:

37) Decrease 95.4 by 26%

Answer:

39) 10 1949-7 6147

Answer:

39) Factorise 3x2 + 18x + 15

Answer:

40) 5 15/20- 16 10/11

41) Round 25.18649574 to the nearest

42)  8832+184

whole number.
Answer: Answer: Answer:
43) 172116 x 169/, 44) 45) 19,6,
Find the next three numbersin
the sequence
0112358 , .,
Answer: Answer: Answer:
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46) Find the median of the following set of data: 47) Solve 18f2 +11f-1=0 48) 425 - 17
32, 3,13, 3,18, 23, 38, 29, 15, 33, Round your solutionsto 1 decimal
27,18, 25, 36, 4, 33, 23,11, 34,5 place.
Answer: Answer: Answer:
49) 575 - (-560) 50)  Round 21.509 to the nearest whole 51) Convert the following improper
number. fraction 613/14 + 116/,7 to amixed
number
Answer: Answer: Answer:
52)  Write 8 x 108 as anormal number. 53) 5/57 of 108 54)  Decrease 20 by 86%
Answer: Answer: Answer:
55)  870.16 +29.8 56) 22.5x 432 57) 799 + 635
Answer: Answer: Answer:
58) 15/ x 16/ 59) 60)
30 Find VVolume of 27 Find VVolume of
Cylinder Cylinder
Answer: Answer: Answer:
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Answer:

Answer:

61) Convert thefollowing fractionintoa || 62) Convert thefollowing fractionintoa || 63) 121,914
mixed number: 28/;q mixed number: 28/,9
Answer: Answer: Answer:
64) Round 3.003 to 1 significant figures. 65)  What would you multiply by to 66) b
decrease an amount by 84%7?
a 0 c

Measure angle boa

Answer:

67) Solve by factorising

68) 398 x 308

69) 'What isthe probability of rolling

g?-13q+12=0 factors of 9.when rolling adice
Answer: Answer: Answer:
70) Find area of square 71) Convert the following fraction into a 72) Decrease 58 by 21%
having each side (s) mixed number: 40/;5
s equals 250 ft
s
Answer: Answer: Answer:
73)  Find the percentage change from 2 to 74) 519 » 5-15 75) Find the range of the following set of data:
39 19,0.7,0.8, -7, 0.3, 10, -18
Answer: Answer: Answer:
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76) Anamount was increased by 5% to 77) Find area of square 78) 867 - 805
$267.00. Find the original amount. having each side (s)
s equals315m
s
Answer: Answer: Answer:
79)  What would you multiply by to 80) 524 + 236 81) A number was shared in theratio
increase an amount by 40%? 32:36. The smaller share was 48.
What was the larger amount?
Answer: Answer: Answer:
82) 'What isthe probability of rolling a 83) 84) (-114) + (-19)
even prime number.when rolling a
dice
'‘Name the type of angle.
Answer: Answer: Answer:
85) 86) Write 7 x 107 asanormal number. 87)  Increase 65.6 by 65%
25 Find Volume of
Cylinder
Answer: Answer: Answer:
88) Find the value of 'f' by completing 89)  Round 5.0 to the nearest 10000 90) Simplify 12:26
the square of the following equation:
2+8f+12
Answer: Answer: Answer:
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Answer:

Answer:

91) Find the mean of the following set of data: 92) 45.7 X 23.6 93) Decrease 28 by 80%
0.3, 22, 36,0.9,0.3
Answer: Answer: Answer:
94) Decrease 28 by 80% 95) 579 + (-936) 96) Increase 25 by 58%
Answer: Answer: Answer:
97) 1026+ 38 98) 6 12/14-18 g 99) Round 10.91 to 1 significant figures.

Answer:

100) Find the range of the following set of data:
16, 20, 7,-0.2, 0.6, -18

Answer:

Total: /100
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1) 39
8) 16/7

15) 24

22) 944111616
29) 3%

36) 86

43) 28627135

50) 22
57) 1434

64) 3

71) 224

78) 62

85) 34636.059005827
92) 1078.52

99) 10

2) 6.465
9) 16/;

16) 6

23) 3734ft

30) 9249.2865055663
37) 70.596

44)1321,34,

51) 8207/538
58) 4%/g

65) 0.16

72) 45.82

79) 1.4

86) 70000000
93) 5.6

100) 38
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Answers:

3) 292355

10) 16/7

17) (5d + 17)(d + 1)
24) 28%5

31) 784356in

38) 3%0/33

45) 19

52) 800000000
59) 84823.001646924
66) 139

73) 1850%

80) 760

87) 108.24

94) 5.6

4) 800%
11) 31

18) (5d + 17)(d + 1)
25) 11,

32) 308.72

39) (3 + 15)(x + 3)

46) 30

53) 20

60) 61835.968200608
67)q=120r1

74) 54

81) 54

88) (f + 4)2- 4

95) -357

5) 18.62
12) 2566m
19) 165
26) s2

33) 18

40) 227144

47)f=010r-
0.7

54) 2.8
61) 1%
68) 122584
75) 37

82) Ug

89) 5

96) 39.5

: 02082018-535

6) 14

13) (q+2)?
20) 33/,
27)3.84
34) 143.2
41) 25

48) 25

55) 29.2
62) 1919
69) 1/5

76) $254.29
83) Straight
90) 6: 13
97) 27

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) 272
14) (f+4)2-1
21)

28) (j + 2)2
35) 26%/g

42) 4.8

49) 1135

56) 972
63) 5°/14
70) 62500ft
77) 99225m
84) 6

91) 11.9
98) 2310/,
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